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Answers to questions are to be given only in English except in the case of candidates
who have opted for Hindi medium. If a candidate who has not opted for Hindi
medium, answers in Hindi, his answers in Hindi will not be valued.

Answers to Sections A and B should be given in separate sets of answer-books.

SECTION—A

Attempt all questions.

Marks

1. (a) Describe briefly the following terms : 5x1=5

(i) RISC
(ii) SCSI
(1i1) WiFi
(iv) Linked List

(v) Metadata.

(b) Explain each of the following :

(i) Mirror Log

(ii) Open Source Software
(iii) Fire wall
(iv) Intranet

(v) Multitasking.
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(@) Explain the value added services that a Data Centre provides.

'(b) Explain different core phases that are required in developing a backup and
recovery strategy.

(@) Discuss the various attributes of Local Area Network (LAN).

(b) What is Integrated Services Digital Network (ISDN) ? Write its advantages.

The Incometax for the employees of an organization is calculated on the basis of
their Gross Incom'e and the Investments made by them, under Section 80CCC.
The taxable income is caculated according to the following rules:

Taxable Income = Gross Income - Investments provided investments are less
than 1 lac. Otherwise

Taxable Income = Gross Income - 1,00,000

Following rules are applied to calculate the Income-tax, on the Taxable Income:

Taxable Income Income-tax
(i) 0-1,60,000 Nil
(ii) 1,60,001-3,00,000 10%, on the excess of 1,60,000,
(iii) 3,00,001-5,00,000 14,000 + 20% on the excess o 3,00,000
(iv) 5,00,001 and above 54,000 + 30% on the excess of 5,00,COO

Also an educational cess of 3% of Income-tax islevied on all the employees, irrespective
of the income.

Employee number, Name, Gross Income, Investment amount is given as input.

Draw’a flow chart to caculate the Incometax payable by each employee.

Write short notes on the following:
(@) Stages of Data Mining

(b) Bluetooth Technology.
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SECTION-B

Attempt all questio~s.

6. State with reasons which of the following statements is correct or incorrect :  3X2=6

(@) Globalisation means different things to different people.
(b) Production strategy implements, supports and drives higher strategies.

(c) Benchmarking and Business Process Reengineering are one and the same.

Briefly answer the following: 3x2=6
(@ Need for Turnaround  Strategy

(b) Grand Strategy Alternative during Recession

(c) 'Shared Vision' and 'Vision Shared.

(i) What tips can you offer to write a 'rightt Mission Statement ? 2x4=8

(i) An industry comprises of only two firms-Soorya  Ltd. and Chandra Ltd. From
the following information relating to Soorya Ltd., prepare BCG Matrix:

Product Revenues Percent Profits Percent  Percentage Percentage
(in Rs) Revenues  (in Rs) Profits Market - Industry
Share Growth rate
A 6 crore 48 120 lakh 48 80 + 15
B 4 crore 32 50 lakh 20 40 + 10
C 2 crore 16 75 lakh 30 60 - 20
D 50 lakh 4 5 lakh 2 5 - 10
Totd 12.5 crore 100 250 lakh 100

Michael E. Porter has suggested three generic dtrategies. Briefly explain them. 3+1+3
What is the basic objective to follow a generic strategy ? In what situations can +3=10

the three strategies be used? Identify the type of strategy wused in the following
examples:

(@ Dél Comput~r has decided to rely exclusively on direct marketing.

(E&H) FRG p. T. a.
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(b), "Our basic strategy was to charge a price so low that microcomputer  makers
couldn't do the software internally for that ~heaply.”

(c) 'NDTV', aTV Channd has identified a profitable audience niche in the electronic
media. It has further exploited that niche through the addition of new channels
like 'NDTV Profitt and 'Image.

Read the following case and answer the questions given a the end:

Subhiksha (prosperity in Sanskrit) began with a single grocery store at Chennal

in .1997. Subhiksha stores increased from 50 in 2000 to 140 by 2002-03 (spread

across 30 towns in Tamilnadu) to 670 by 2006-07 to 1650 by September, 2008. Its
early s-ccess was due to its business model based upon no-frills’deep discount and
high level of neighbourhood  focus. Its decision in 2004 to go nationa from a
regional player a a rapid pace proved wrong. With the growing ambition to go
national, focus shifted from vaue to customers to creating vauation for self. The
company had recruited all the employees to foray into consumer durables also. Its
revenue jncreased from Rs. 278crore from 140 stores in 2005 to Rs. 2305 crore
in 2008 with a capital base of Rs. 32 crore. Subhikshas  profit after tax for
2007-08 was Rs. 41 crore. It had invested heavily, largely using debt, and paybacks
took longer than expected. Repayment of debt had no relationship to cash flow. In
the end the company had liabilities of Rs. 900 crore.

Around January, 2009, the company had started to shut down stores pan-India
and in February, the top management quit the firm, not just because it defaulted
on rentals of its outlets and salaries since October, 2008. Today al ~he stores are
closed. Magor suppliers had stopped supplies after it defaulted on payments. It
asked its employees to take home groceries; and go on leave without pay. Many

employees did not get their saaries. Initidly the company was confi,dent ,torestructure
and remain in business.

Indian retall industry comprises of 12 million mom-and-pop stores and kirana
stores (many of whom have also started innovating) al;ldunknown number  of
hawkers in the unorganized sector working on small-sized stores and with low or
no rentals and salaries and the organized retalers (market share not more than
5%).

The emergence of alarge young population and a growing middle class with strong
disposable incomes and credit card culture are the drivers of the organized retail,
a mix of two types - ones going in for huge expansion announcements and others
following "dow and steady wins the race strategy”. The industry operates not on

(E&H) FRG
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a very ,hefty margin. The yearly top-line growth islikely to remain around 10-15%
as against forecasted 35% this year. Compared with players like Pantaloon, Reliance,
More, RPG and even Nilgiri's (which has private equity funding), Subhiksha has
no large group's backing (except Shri Azim Premji having 10% stake). The strategy
was to raise more debt and keep equity low. During 2006, Subhiksha had a good
chance to make an initial PO or raise private equity money, but it was in quest
of creating higher valuations. Suddenly retail was no longer so hot and the
capital tap had gone dry. Due to inability to raise more debt, working capita was
diverted to expand. Many of the organized retailers have survived the downturn
through  transformation in their dtrategies and tactics. However, one thing is
certain  th;tt footfalls have declined for the organized retail.

Debt-ridden retailer Subhiksha Trading Services Ltd. has begun its second innings
in February, 2010, with the launch of its first cash-and-carry  store (the board
outside the outlet reads Subhiksha Maliga Aris Mandi) in Thiruvanmiyur in
Chennai - at its first ever retail outlet). "Subhikshas model will be different this
time around and will not directly engage with customers,” said an industry source.

Questions:

(& "Tounderstand the nature of competition certain questions need to be answered." 3
What those questions are?

(b) Who were the competitors of Subhiksha ? Do you think they were better 5.
equipped than it ?

(c) What, where and how the business strategy of Subhiksha might have gone 4
wrong?

(d) If you were the strategy consultant to the Organised Retailers Association  of 6

India, what will you advise to control the cost and convert the threat of
dropping footfalls and declining sales into an opportunity?

(e) How is a Cash-and-carry  store different from a Retail store? Name any other 2
such Cash-and-carry store in India

(E&H) FRG P.T.O.
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37 wlefea 1 sreawt fa=a ol mem g €, uvl & I Faw oSt ¥ & o 2
g yhendf o fe=t wem == g §, 9fg fe=t § s 2@ g,
@ 9% fe<dl # fad ™ ITU w1 qeFiw A€ grmi

qAT-37 91 YF-9 & ST AAT-37em Sw-gfaret ¥ <ifsu

HAT—3AH

aoff 991 = stfrerd ¥

1. (m)ﬁﬁﬁaﬁﬁwﬁﬂﬁﬁwwﬁﬁq: 5x1=5
(i) RISC
(i) SCSI
- (iii) WiFi
(iv) feiwe fer2 (Linked List)
(v) HeTSTel (Metadata).
(a) Freafafaa =1 gogmEy
(i) 9 & (Mirror Log)
(i) G& ©a iea= (Open Source Software)
(iii) ®TA afd (Fire wall)
(iv) §22 (Intranet)
(v) HeEielferT (Multitasking).

by
X
[y
Il
)

2. Frafafed & sw ST -

(37) qea gafga ¥ (Value added services) fSien] =qa@dl Uk €1 #= (Data 5
centre) AT €, 3¢ THISU |

(®) w319 U WifF E9@1 (Backup and recovery strategy) &1 fas® & & =0 HI 5
(Core phases) &1 THSTET |
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3. (31~ 1$r ~ (LAN) ~ 13&:r~  (Attributes) cnlfct~-q"'t1 | S

(=) ~.-cl~~~"ftarT~f"1G— (ISDN) Cfl1%?~ m ~ ffi'q f(1f~~l 3)
4, ~ ~ ~ ¢,~gIR<bRT~ ~ ~ ~ (Income-tax) cnl7TURT ~ 3wi. 10

(Gross income) ~ ‘1m0 80CCC ~ 3Mf"lIfa DRT~ ~ fctPt<1ljl (Investments) 1R

3TImRo %1 Cfil:-~ 3W1 (Taxable Income) cnl 7TURTRI4 ~ "Bmen % :

Cfik~  3wl= - 3W1 - fetfi<dljl, ~  (fCfi"fctfi<lljl 1.0 ~ "B Cji""(I 31~

Cfil:-~ 3W1l = ~ 3w1 - 1,00,000

cfil:- ~ 3Wr IR R4 —~ bRT ~ cnl 7TURTenl ~ %

Cfik~  3w1 ~

(i) 0-1,60,000 ~ ~ (Nil)

(i) 1,60,001-3,00,000 1,60,000 "B 31f~ cnlCfil:-~  3W1CfiT10%

(iii) 3,00,001-5,00,000 14,000 + 3,00,000 "Bm~  cnlCfil:-~  3W1CfiT20%

(iv) 5,00,001 "B 31f~ 54,000 + 5,00,000'B 31f~ cnlCfil:-~  3W1CfiT30%

dY(Im ~ 31fuftm, ~ a,~ql{j cnl~ CfiB% ~~ ~ (Educational  cess) ~

iMT, -m '1ft~ 3W1im |

q,~-ql(1 CfiT~, "flli, ~ 3wl ~ fCtfl<lif %l

~ ont 7TURT~  ~ fum~ ~ 1 (Flow chart) ~ I

5. fl~fc:1f~\1 1R manrr fc.UJful<lifc:1f~~ :

(3) ~ ~1~Fljl (Daa mining) ~ M~ TRUT 5
~) ~~ ~~'Cj1~1q,XBluetooth  technology) | 5
~mm'~~~1
6. CfiRUF ~ Ffj fi~f~f~\1 Cfi~ if "B~ ~ 31~ ~ ~: 3x2=6
(31) ~{ctlg,(ul Cfim31f~  f~f~ fiTIT~ fum:f~f~ ol

(E&H) FRG P.T.O.
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C~) d~IC\1 ~Q~-qll ~ ~ CfI'ffi (Higher) ~Q~-ql13Tlchf gl<jf..:t<jlwirs$i 3fu
<YK-gql-1.~  ~I
('B) 1~-g.lifct~I" 3fu: ‘o<jg-lil<j'9:1: ~Alg~ul' ~ ~ m ~I
7. fl~f~f~c1 ~ manr'3am ~ 3x2=6
3y ~ ~:1>-q1 (Turnaround) ~Q~ -ql1 Cfft 3-il¢j~<.jg,c11
co0~ ~ -~ ~Q~-qll fCjg,<;y
(B) '~~l~n~cl ~ ~ B"a<lShared vision) 3fu: '~ ~ B"a<]Vison shared)
~~'|
8. () I~ ~wfC\~fB"a<% ~ ~ mqcpn~ ~~ ~7? 2x4=8
\il) ~ ~ if eft tpif-~ fur. 3fu: TRT fur. -l;i~lfcj~1~ fur. if~ f1~f~f{Slcl
~ ~ 3m:TR1IR BCG ~CR1 ~
~ 3w Cll' q fe>Cllu
(|f) (. if) Cll'q fdlclcll fdlclell
A 6 120 C11"& 48 80 + 15
B 4 50 C11"& 20 40 + 10
C 2 75 C11"& 30 60 - 20
D 50C11"& 5 C11"& 2 5 - 10
~ 125 250 C11"& 100
9. ~l~~—~ ~ -2xfR 'Jlfclldt~n.qg) ~Q—qgll~~ ~ | "B&.fqif ~"CfUR = .~ 3+1+3
\Jfclllcl ~Q",-g11 —~ ~ chHf ~— -~ cpn m ~? fonr o~ if ~ cfR+3=10
~Q~-g111ff cnf ~ m-r ~ ~? f1~f~f{SlcdC\IQ~U#' ~ ~Q~-qllc ~
(31) ~ Q,j.. - o~ - ~&T firquyr 1R m"'q, L -~ cyr  fuuflf  fuzaT
c-o "~ 3T TR~ ~Q~-qll awr ~ o ~~. ~1~>hlq, *@aHiff :mg
~  ~  LilfG<jif ~
(E&H) FRG
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(=) I~ "itit eft' -g:cit.eft. ~, ~ ~Ct<;TFlcfYIf~~1if -q:chfi~ ~  fm (~
, ~) cnl~-cnl~I~ I~"ititeft~' 3fu; |-~~~
en) \J "fl"- -:frn CHOf 3fu: 31TiT~oq - w~ (fef ~1QI) ~ ~1

10. fi~fci-d  iR1 en) ~-q: 3fu: 3fuif "Rit~ m il11"3"W~

woga:r¢~~~ -L-l~Y A 997 ~  if ~eivia mRT ~  if ~3TIGcn1\Woqgarr
~ -~ 2000 if 50, 2002-03 if 14;0 (dfYC1il§il130 ~ if ~ ~), 2006-07 if
670 3fu; f-l;-ld~"-, 2008 ~ 1650 M ~ |~ -mD'qCf) -LAIf)Cldl ~ Cfll1-~ (No-frills)

W ~ ~  3fu'3™cg ~  cnlWifif ' R ~ ~  areafon ~ 'R 3TImfu:r
2ftl CfEf,2004if ~-~ if ~l<r~ 'R ~ c¢nl—~ YQ\cflcfliarr If ~ TI~m
cnl’'~ ~ il m ilfuQ~~icfli~ 'R~ —~I1~ T~ =~ WIffi'
dief-L-IH 1N o8 ~>ft ofi+i',"R~lenl g(ff M~ ~  2ft ~ 2005 if 150 ~  if
278~ m if ~ 2008 if 2305 ~ M M. 1~ ~ ~ 't~ 31~ 32~

M -~ 1200708 if ~ ~ fiog4l1~ M -1~ W f{CIfi~I-4 ~,
~—; ~  3TImfurr~ 3fu:-gQ;r~ if 3Twif 311~ ~ ~ 1~ illgrfITIFR CHf
~  ~  if enT{~—~~ ~l 3Rf if~"ill ~ 900~ m ~I|

~, 200011 3ty ~~ o~ if~ ~ ~ ~ mog~ "Rit~3fu~

if 3"trf~ ~ Lfaen) ~  Wirr, ~ ~l-llfct~ ~ L1.fIH '~ 2008if ~
3fu:~ 'TRfRIf ¥ cnl2ftl ~ 3t~ cHfldf;m ~ 'TRfR if ¥  il1'CfiwJT™ ~ ~
c~ ~ cfl—~If"-ei1t ill~ wifi ~~ 3fu~ ~ illW 'R~ ~
ilLfuQ:~ | 3RCfi cplj~IR~I'en) ~ ~ ftrffi 1~3TIG if ~ 3ILRFi,J'-~i1~  3fu:

dief-1:4f~-GRm il1>rfuBmcffit  2ft|

~ ~ ~ if, 3-t~~Ifod~ il112 fyfC1~i "Affii-fi:rcrF (Mom-and-Pop  stores),

mRT ~  (BRCfi ~ ‘ictlilcfl"-Uenl~ if m~) 3fu~~"-1-IM,  \sfTchi=r <1~

~ a ~  il1--31fCfm:~  ~~, a ~—~Ifod~ dicg"-"'IH~ 5%if .
31f~riff)  3iffi'~ 1 \

or ™ ¥ \J'I~~1 3fu~ ~ (Disposable) 3W::Bfu:~ cfili~~fd ~ ~
~3TI1~ crf ~ dict-!;-l1dm ~I ~;IfOd~ dlef-!;-H~—~  cnf 1nr-sram~--qicn \5fT
w fcffim:~  :mif ~ ~3fu~ a* 3fuW-R~ -~ ~" ~Jil fd Cf)8Br:rwft
~l~ ~ ~ W ~ (Magin) 'R CHfrt ~ 1~ if 3tjylfid~ ~ 35%

'(E&H) FRG p.T. a.
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~ -~  1015% m m ctt -BIfTCAdI~, n{l~~~ 3m:f\IT3W 11{ 1fjl({~

~ wren ~ r~r~<1lnjjd) ctt ¥AT -BW~~ <it Fnm — ~ cfiT~2R  "IDBW

~ -~ ~  Cft 10% ~ljfIC\I(1~ 3WITCn) Cf1f2006 -BW<i} ~ -gm mtf~  1\IT

R'R m "IF wren~ ~ or~3Cm~ ~ ~ 3w 3f~ ~--ijel~ Ctl

~ -B~lwm ~ -~ --k1~ {1&)l<iW' WT 3W 1T CfiT~ 1ft~  TT7:ABW

3f~ ~ ~  ctt 3l<llj<tdicrnuTenl4:(fIfE <itm fcmm:~ - B~ ftr<rTT7:4T

3Rcf>~jlfdd ~  ~~~1<11311RT(Ul'ilrd<113W ~ -B~ ~ YK~JICfim~ "B

~ ITlir~1~ ~ r~R~d % ~ ~jlfdd.~ ~~~I<1 -B~ ~~ Cctt~- -~

T{ %1

~ -B™ ~ ~~~|<1IW~~ o<JYIKen r{lr~~~~ ~, 2010 -B311R~ '~

cft-3wW-11ffm' (Cash-and-carry) ~ (~ ~ ~ ~ 1Rf0"&T%W~~ ~

3TIftfu~) ~ B f—11aj~(~ ~  ~ ~  crrffi~, 8 3urT ~ |fPT

-mcqCtioes "~ en w— ciit~  f~ m-rrr,~ ~ mm TI~31T  "Bemill W'

-wn ", 'Q:m~ ~ ~ mer CfiTgffi'Toe |

@Y Hrd<Ufjlditt ~ <it~ ~~ ¥9 M ~- {~ si~aen~," 0~ 3
CATT .

("Gi)W~~ ~ lrd<lljn~ ~? 3IfIICAIUIf-BCFITe) ~ ~  ~~r~d ~? 5

("~) W~~ ctt ~1~~Ir<len~Q(~11 CHIT 3W~ wicf 'T{?. 4

e 3m 3W:Hlifdd ~ ~~~1<1} ~ ~{1Qenl{ra, or "ffilffrl~Ulg~ ~ ~ 6
~ Y C\~1N\3AW ~ ~ ~ <it 3AICfm-B~ ~ =~  CAT ~ ~ ?

=) ~ ~ cft-11ffINCash and cary) ~ Fnm~ ~ "B~ ~ f~ 4?2 2
‘offif -B W« FOM 3pJ~ -~ -~ -~ CfiT~ -~ I
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